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Real Numbers Stage 1
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https://doubtnut.app.link/MVcbJvrhfnb
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https://dl.doubtnut.com/l/_qEU5PcMiEjfJ

D. 2

Answer:

o Watch Video Solution

2. The capacity of two pots are 240 litres and 112 litres
respectively . Find the capacity of a container which can exactly
measure the contents of the two pots .

A. 9000cm’

B. 12000cm®

C. 16000cm®

D. 8000cm?

Answer: C

| o |


https://dl.doubtnut.com/l/_qEU5PcMiEjfJ
https://dl.doubtnut.com/l/_vGnf6Jz9onHG

| & Watch Video Solution

Real Numbers Stage 2

2

1. If m =n® —n , where n is an integer , then m? — 2m is

divisible by
A. 20
B. 24
C.30

D.16

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_vGnf6Jz9onHG
https://dl.doubtnut.com/l/_sr871PlThUFN

Polynomials Stage 1

1.1ft2 — 3t + 2is a factor of t* — mt? + n, then the value of m
and n are:

A —5,14

B.—5, —5

C.5,4

D.5, — 4

Answer:

o Watch Video Solution

2. If pg and r are the roots of the equation

x> + 5x% — 16z +48 = 0 then value of the expression


https://dl.doubtnut.com/l/_54SluHt5LCu1
https://dl.doubtnut.com/l/_Uh0ndQiMTc1S

plgr+q+r) +gris:

A. 43
B. —32
C.—64

D. 32

Answer:

o Watch Video Solution

1 2t
3.1ft + — = 5, then is equal to ...
t 3t2 — 5t + 3
A5
8 1
5


https://dl.doubtnut.com/l/_Uh0ndQiMTc1S
https://dl.doubtnut.com/l/_3rSewsjuxIDv

Answer:

o Watch Video Solution

Polynomials Stage 2

1. The value of /97 x 98 x 99 x 100 + 1 is equal to

A. 9901

B. 9891

C. 9801

D. 9701

Answer: D

f  _


https://dl.doubtnut.com/l/_3rSewsjuxIDv
https://dl.doubtnut.com/l/_2LYPRwuExVRP

| ° Watch Video Solution

2. Let P(x) be a polynomial such that p(x)-p'(x)= ", where is a

positive integer. Then P(0) equals-

Answer:

o Watch Video Solution

Pair Of Linear Equations In Two Variables Stage 1



https://dl.doubtnut.com/l/_2LYPRwuExVRP
https://dl.doubtnut.com/l/_0Hmfu11HXwLC
https://dl.doubtnut.com/l/_I3HvUzVeezL8

1. If a® L =be, bV ! =ca, ! = ab, and

Ty + Yz + zx
TYz

= k, then find K

A. xyz

B.O

Answer:

o Watch Video Solution

Pair Of Linear Equations In Two Variables Stage 2

1. In village madhubani 8 women and 12 girls can paint a large

mural in 10 hours . 6 women and 8 girl can paint it in 14 hours


https://dl.doubtnut.com/l/_I3HvUzVeezL8
https://dl.doubtnut.com/l/_MAjk0o0XIpv2

.The numbers of hours taken by 7 women and 14 girl to paint

the mural is :

A.10

C.20

D. 35

Answer:

° Watch Video Solution

Quadratic Equations Stage 2

1.If @ and S are the roots of the equation 3z> — 5z +3 =0,

then the quadratic equation whose roots are a?8 and a2 is :


https://dl.doubtnut.com/l/_MAjk0o0XIpv2
https://dl.doubtnut.com/l/_C8cLlzqWerHu

A3z —52+3=0

B.3z2 — 8z +5=10

C.322 -8z +3=0

D.3z2 — 52 —3=0

Answer:

o Watch Video Solution

2.1f y = x> and x increases at the rate of 3 units per sec; then
the rate at which the slope increases when x=3 is.

Ayl —18y+1=0

B.y? +18y+1=0

Cy?—18y—1=10



https://dl.doubtnut.com/l/_C8cLlzqWerHu
https://dl.doubtnut.com/l/_43UXfUsh0C1F

D.y2 + 18y —1=10

Answer:

o Watch Video Solution

Arithmetic Progressions Stage 1

1. Iz, zo,z3,...... are in AP, then the value of

L1T2 L2T3 ZL3L4 Ln—1TLn

n—1

TR
n—1
LoLp 1

n
C.

T1Tn,
n+1
D

L1Tn



https://dl.doubtnut.com/l/_43UXfUsh0C1F
https://dl.doubtnut.com/l/_pbsRfA4xQ4FK

Answer:

o Watch Video Solution

2. If the sum of 'n' terms of an arithmetic progression is
S, = 3n + 2n? then its common difference is :

A9

B.6

C.4

D.3

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_pbsRfA4xQ4FK
https://dl.doubtnut.com/l/_XWJzqdloJs7v

Coordinate Geometry Stage 1

1. The centroid of a triangle is (2,4) and circumcentre is (1,7),
then find the orthocentre .

A (3)0)

B.(4, — 2)

C.(—24)

D.(—8,4)

Answer:

o Watch Video Solution

2.fx <1l,y< —1, then(z — 1,y — 3) liesin:


https://dl.doubtnut.com/l/_j1plbImTnxeY
https://dl.doubtnut.com/l/_QuCQm8e5mAOH

A. lll quadrant

B. IV quadrant

C. Il quadrant

D. | quadrant

Answer:

o Watch Video Solution

3. Angles made by the line with the positive direction of X-axis

are given. Find the slope of these lines

60°

A. Statement (i) and (ii) correct

B. Statement (iii) and (iv) correct

C. Only statement (iii) is wrong


https://dl.doubtnut.com/l/_QuCQm8e5mAOH
https://dl.doubtnut.com/l/_eFPkimSJTpAU

D. All statement are wrong

Answer:

o Watch Video Solution

Coordinate Geometry Stage 2

1. A circle passes through the vertices of a triangle ABC. If the

vertices are A( —2,5),B(—2, —3),C(2, —3) then the

centre of the circle is :


https://dl.doubtnut.com/l/_eFPkimSJTpAU
https://dl.doubtnut.com/l/_j9VeD3l214US

Answer: B

o Watch Video Solution

Triangles Stage 1

1.D, E and F are respectively the mid -points of the sides BC, CA

and AB ofa A ABC .Show that (i) BDEF is a parallelogram

A.120°

B.110°

C.135°

D. 130°

Answer:

| o Watch Video Solution


https://dl.doubtnut.com/l/_j9VeD3l214US
https://dl.doubtnut.com/l/_2ftaaHpLodJN

2. In the given figure , ABII ED and BC II EF , then the

value of

LABC + ZDEF'is :

E F

o

A 'Y
D
B h‘\ »

C
A.90°
B.180°
C.120°

D. 360°


https://dl.doubtnut.com/l/_2ftaaHpLodJN
https://dl.doubtnut.com/l/_zFXAcpUrldCs

Answer:

o Watch Video Solution

3. In the given figure , AB = AC, /BAC = 40° , BE and CD are
angle bisectors of /B and ZC respectively . If /ZDOE = z

the value of x is :

A. 140°


https://dl.doubtnut.com/l/_zFXAcpUrldCs
https://dl.doubtnut.com/l/_jp9gOId1PQoV

B.70°

C.110°

D.40°

Answer: C

o Watch Video Solution

4.ABC is a right angled triangle , right angled at /B . If side AB

is divided into three equal parts by points D and E such that D

. h AC? — EC? . |

Is nearest to A, then DC? — BO? Is equal to:
A3
B 21
2


https://dl.doubtnut.com/l/_jp9gOId1PQoV
https://dl.doubtnut.com/l/_sZPd9fbLvIaF

D. 2

Answer: D

o Watch Video Solution

Triangles Stage 2

1. Let D be the middle point of the side BC of a triangle ABC. If

the triangle ADC is equilateral, then a®: b?: ¢? is equal to

A 14 x 33
B.42 x 35

3
C.14 x 37

D.42 x 32


https://dl.doubtnut.com/l/_sZPd9fbLvIaF
https://dl.doubtnut.com/l/_lewdd5O5CNXX

Answer:

o Watch Video Solution

Circles Stage 1

1.In the figure what is m/A =

A.37



https://dl.doubtnut.com/l/_lewdd5O5CNXX
https://dl.doubtnut.com/l/_Gog0DEEsjVjo

B. 41

C.53

D. 47

Answer:

o Watch Video Solution

2.In the adjoining figure, PQ is a chord of a circle and PT is the

tangent at P such that ZQPT = 60°. Find ZPRQ.


https://dl.doubtnut.com/l/_Gog0DEEsjVjo
https://dl.doubtnut.com/l/_bLa1860Um3No

A.105°

B.115°

C.120°

D. 130°

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_bLa1860Um3No

Circles Stage 2

1. Two circle , both of radii a , touch each other and each of

them touches internally a circle of radius 2a, then the radiusof

the circle which touches all the three circles is :

Answer: B

o Watch Video Solution

Introduction To Trigonometry Stage 1


https://dl.doubtnut.com/l/_Ep4ryPiz0F4s

1.Ifacos@ — bsinf = ¢, thenasinf + bcosf is equal to

A.:i:\/az—kbz—l—c2

B.++/a? + b? — ¢

C.:l:\/a2—b2—|—c2

D.:l:\/aZ—bz—c2

Answer:

o Watch Video Solution

2. The value of

sin7 sin(3m) sin(57) sin(77) sin(97) sin(117) sin(13m)

14 14 14 14 14 14 14 'S

equal to


https://dl.doubtnut.com/l/_ySltihnjrBte
https://dl.doubtnut.com/l/_UA2EByl5fbOX

c 128

D. None of these

Answer:

o Watch Video Solution

Introduction To Trigonometry Stage 2

1.iftan? 6 = (1 — ez),then sec @ + tan® fcosech is equal to


https://dl.doubtnut.com/l/_UA2EByl5fbOX
https://dl.doubtnut.com/l/_NwQ4UaSeW6Kn

D. (1— €?)

Answer:

o Watch Video Solution

Heights And Distances Stage 1

1. The shadow of a tower , when the angle of elevation of the
sum is 30° is found to be 10 metre longer than when it was 60°
.The height of the tower will be :

A.5,/3m

B.5(v3—1)m

C.5(v3+1)m

D. 3,/5m


https://dl.doubtnut.com/l/_NwQ4UaSeW6Kn
https://dl.doubtnut.com/l/_758OsMZtm7Jn

Answer:

o Watch Video Solution

Areas Related To Circles Stage 2

1. Acircle is inscribed in a right angled triangle of perimeter 77

. Then the ratio of numerical values of circumference of the

circle to the area of the right angled triangle is :

A4:7

B.3:7

C.2:7

D.1:7

Answer: A


https://dl.doubtnut.com/l/_758OsMZtm7Jn
https://dl.doubtnut.com/l/_HhJVIYTgojP5

o Watch Video Solution

Surface Areas And Volumes Stage 2

1. The surface area of a solid sphere is 5544cm?. 1t is cut into
two hemispheres. Calculate the radius of the sphere and the
total surface area of each hemisphere.

A. 367

B. 1087

C. 1357

D. 1447

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_HhJVIYTgojP5
https://dl.doubtnut.com/l/_2pgO0m6exl92

2. A solid metallic cylinder of height 10 cm and diameter 14 cm
is melted to make two cones in the proportion of their volumes
as 3:4 , keeping the height 10 cm , what would be the
percentage increase in the flat surface area ?

A.0.09 %

B.16 %

C.50 %

D. 200 %

Answer: C

o Watch Video Solution

Statistics Stage 1



https://dl.doubtnut.com/l/_2pgO0m6exl92
https://dl.doubtnut.com/l/_jE5ZutAMiqjD
https://dl.doubtnut.com/l/_8zXiUgIMzbYK

1. The mean of 25 observations is 36. If the mean of the first 13

observations is 32 and that of the last 13 observations is 39

then the 13" observation is :

A. 32

B.30

C.28

D. 23

Answer:

o Watch Video Solution

Statistics Stage 2


https://dl.doubtnut.com/l/_8zXiUgIMzbYK

1. Observe the following data :

Class | 0-20 | 20-40 | 40-60 | 60-80 | 80-100 | Total
Frequency | 17 | f; 32 5 19 120

If the above data has mean = 50 , then missing frequencies

f1 and f5 are

A. 24 and 28
B.28 and 24
C.28 and 30

D.30 and 28

Answer: B

O Watch Video Solution

Probability Stage 1


https://dl.doubtnut.com/l/_tEMiWQ6NqsVt

1. In a hostel 60 % of students read Hindi newspapers , 40 %
read English and 20 % both . A student is selected at random .
Find the probability that she reads neither Hindi nor English

newspaper .

| = |-

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_d5GDExkRnFy4

2. Three squares of a class board are selected at random . The

probability of getting two squares of one colour and other of a

different colouris :

A 16
21
8

" 21

C3
32

Answer: A

o Watch Video Solution

Probability Stage 2



https://dl.doubtnut.com/l/_f3K84xjQ3E0A

1. If two dice are thrown together . Then , the probability that

the sum of the numbers appearing on them is a prime number,

is
2
9
4
9
5
12

17

D. —
36

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_zlannfPccljf

